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20. [-/1 Points] DETAILS LARTRIG10 3.4.030.

Find the angle & (in radians) between the vectors. (Round your answer to two decimal places.)
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19. [-/1 Points] DETAILS LARTRIG10 3.4.029.

Find the angle & (in radians) between the vectors. (Round your answer to two decimal places.)
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This is the basic technique
for Gram-Schmidt Orthogonalization

process. You'll see this in Linear Algebra

if you take the course.
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25. [-/3 Points] DETAILS LARTRIG10 3.4.044.

Use vectors to find the interior angles of the triangle with the given vertices. (Round your answers to two decimal places.)
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2. [-/2 Points] | DETAILS | LARTRIG10 3.3.515.XP.

Use the figure to determine the tension in each cable supporting the load. (Round your answers to one decimal place.)
W = 2158 Ib
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4. [-/2 Points] DETAILS LARTRIG10 3.3.087.MI.

Two tugboats are towing a loaded barge and the magnitude of the resultant is 8000 pounds directed along the axis of the barge (see figure). Find the tension (in
pounds) in the tow lines when they each make an 18° angle with the axis of the barge. (Round your answers to one decimal place.)

tension in tow line from tugboat A : ¥ | 42058 b
tension in tow line from tugboat B : X | /42058 b
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